
 

 

 

 

 

<WUg;Gf; Nfhitfisf; nfhz;l ml;ruf;fzpjf; Nfhitfspd; ngh.k.rp 
If; fhzy;. 

cjhuzk; :- 01 

24+9 ,jDk; 3a-9 ngh.k.rp  If; fhz;Nghk;. 

29+4 = 2 (a + 2) 

3a-9 =  3 (a – 3)  

xd;wpypUe;J xd;W NtWg;gl;l fhuzpfs; 2>3 (a+2) (a-3) kpfg;ngupa 

tYf;fspd; ngUf;fk; 2 x 3 x ( 9 + 2) x (a – 3 )  

/ ngh.k.rp = 6 (9 + 2) x (a – 3)  

cjhuzk; :- 02 

5x = = 1x5 x x2  

10 (x+1) = 2x5 x (+1)2 

/ ngh.k.rp = 1x2x3x5x 22 (x+1)2 

= 30x x2 (x +1) 2 

gps;tUk; gFjpfs; xt;nthd;wpYk; cs;s ml;ruf; fzpj ngh.k.rp If; 
fhz;f.  

a. 3x+6  2x – 4  

b. 2a+8 , 3a + 12  

c. 3x, 15 (x – 3), 6 (x-3)2 

d. 3x, 15 (x+1), 9(x-1)  

e. 4(x+y), 6(x-y) 

f. 10x (y-3), 15y (y-3)   


